


Odpovedi:

27
AL 13y 27.13=14n
30

s P . 15p, 30-15=15n
ffSi . 14p, 30-14=16n
1;‘N . 7p, 147=7n
1;0 ; 8p, 17-8=9n
1 Op, In
0P

1

1 P : lp, 1-1=0n
4

P24 ; 2p, 4-2=2n
2)

a) 27+4=x+1=x=30
} 30
13+2=y+0=yl15 =7 = 15p
(prvek dohledan pomoci protonového ¢isla).
b) 14+x=17+1=>x=4
T+y=8+1=>y=2 } = JHe,resp.)a
c) 1+2=x=>x=3
l+1=y=>y=2 }Z;He

3) lg U ... 5,14 . 10” MeV
lkg =1000g U ......... X

514.10% -1000
=2 =5,14.10°MeV =514.10" eV

X
leV ... 1,602.10™"7
5.14.10% ... xJ

o 1602.10™ 514.10%

1 =823.10"%J




E(kg™U) 823-10%J

=194-10’
EQkgTNT) 4,25-10°J

Energie uvoln&na pii §tépeni U je 1,94.107 x v&tsi.



